
>fj)f efb| cflZjg sflQs dfu{ kf}if df# kmfNu')f

1 cfGtl<s cfo 8996000.0 693609.0 855876.0 493633.0 796584.0 2839702.0 809101.0 1193840.78 766703.0 629469.0 3399113.78 6238815.78

2 <fhZj jf*kmfF* 4750000.0 250188.82 250188.8 250188.82

hDdf 13746000.0 693609.0 1106064.82 493633.0 796584.0 3089890.8 809101.0 1193840.8 766703.0 629469.0 3399113.78 6489004.60

s'n hDdf

rf}q j}iffv h]& cfiff(

1 cfGtl<s cfo 8996000.0 938748.0 292154.0 975889.0 1553030.15 3759821.15 10248825.75

2 <fhZj jf*kmfF* 4750000.0 175035.0 175035

hDdf 13746000.0 938748.0 292154.0 975889.0 1728065.15 3759821.2 10423860.75

hDdfjflif{s nIo s'n hDdf
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